NOTICE FOR APPOINTMENT OF REGULAR / RURAL RETAIL OUTLET DEALERSHIPS

BHARAT PETROLEUM CORPORATION LIMITED (BPCL) PROPOSES TO APPOINT RETAIL OUTLET DEALERS IN THE STATE OF JAMMU AND KASHMIR AS PER FOLLOWING DETAILS:

Sl. No	Name of location	Revenue District	istrict Type of RO Sales Potential # Category Type of Site* Minimum Dimension (in M.)/Area of the site (in Sq. M.). * Finance to be arranged by applicant		(in M.)/Area of the site (in Sq.			0 .	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs.in Lakhs)	Security Deposit (Rs.in Lakhs)			
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC CC-1 SC CC-2 SC PH	CC/DC/ CFS				Estimated	Estimated fund			
					ST CC-1	-				working	required for			
			Regular /	MS+HSD	ST CC-2 ST PH		Frontage	Depth	Area	capital	development of	Draw of Lots		
			Rural	in Kls	OBC		Trontage	Бери	Aica	requirement	infrastructure	/ Bidding		
					OBC CC-1					for operation	at RO			
					OBC CC-2					of RO				
					OBC PH									
					OPEN GG 1									
					OPEN CC-1									
					OPEN PH									
1	Vill Khanpur on vijaypur to Khanpur road	SAMBA	RURAL	65	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
2	Village Madana, Purmandal Road	SAMBA	RURAL	60	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
3	VILLAGE DHOK JAGIR ON AKHNOOR TO KALEETH ROA	JAMMU	RURAL	100	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
4	Village Nagrota(Between Ziyarat & Temple) LHS on Rajouri B	RAJOURI	RURAL	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
5	Village Kotdhara (on Peeri to Rajouri Road)	RAJOURI	RURAL	30	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
6	Village Magam on Magam to Pattan road	BARAMULLA	RURAL	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
7	Hillar road, verinag to Qazigund	ANANTNAG	RURAL	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
8	Village Kangar on Ring Road, LHS while moving from Kangar t	JAMMU	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
9	In Between Transport Nagar and Sidra Golf course, on NH 44 (.	JAMMU	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
10	Channi Himmat, Marble Market Road (Jammu WML)	JAMMU	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
11	Village Ban (Panjgrain) on NH 44 -LHS from Jammu	JAMMU	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
12	Drass (on NH 1)	KARGIL	REGULAR	200	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
13	Pul Doda to New Thathri (on Doda to Kishtwar Road)	DODA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
14	Spituk on NH-1 (Leh-Srinagar Highway)	LEH	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
15	Vill. Sarthali, On Basohli-Bani Road	KATHUA	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
16	Village. Mujua Lakhmi (Main Road)	JAMMU	RURAL	75	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
17	Village Taisuru, Tehsil Sankoo, Dist. Leh	KARGIL	RURAL	40	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
18	Village Chak Lakhnot, Nagri-Fatehpur Road	KATHUA	RURAL	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
19	Vill. Chak Mohd Yar, on RS Pura to Arnia Road	JAMMU	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
20	Vill. Hakkal (Main Road)	JAMMU	RURAL	75	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
21	Within 3 Km of Kaluchak Parmandal Mod (On Parmandal Road	SAMBA	RURAL	80	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
22	Village Rakh Amb Talli on Pangdour Road	SAMBA	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
23	Village Chak Jagir on Jammu to Gajansoo Marh Road	JAMMU	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
24	Between Miransahib to RS Pura Road	JAMMU	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
25	Village Chak Ramdass (Main Road)	JAMMU	RURAL	60	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4

26	Village Kilhotran Khaljugser on HP Road	DODA	RURAL	40	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
27	Village Rakh Jangh(Main Road)	SAMBA	RURAL	60	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
28	Village Gho Rakwalan on Swankha Road	SAMBA	RURAL	90	OPEN CC 1	DC	30	25	750	12	30	Draw of Lots	5	4
29	Village Gurha Pattan (Within 2 Km from Doomi Chowk on Akl	JAMMU	RURAL	100	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
30	Vill. Makhanpur Charkan (On Salehar-Arnia Rd)	JAMMU	RURAL	70	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
31	Village Sunail(Main Road)	JAMMU	RURAL	70	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
32	Village Khour (Bijowala) on Sohal Kaleeth Road	JAMMU	RURAL	70	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
33	Village Hariachak (on Sanji Morh to Korepunnu Road)	KATHUA	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
34	Village Banghai (on Shahdara Sharif to Thannamandi Road)	RAJOURI	RURAL	25	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
35	Village Kandarnu on Dhar Road	KATHUA	RURAL	80	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
36	Village Mishriwala, On Akhnoor Road	JAMMU	RURAL	110	OPEN	DC	30	25	750	12	30	Draw of Lots	5	4
37	Village Pouni on Reasi to Bhamla Road	REASI	RURAL	70	OPEN CC 2	DC	20	20	400	12	30	Draw of Lots	5	4
38	Village Khumbriyal on Kupwara to Sogam road	KUPWARA	RURAL	102	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
39	Village Daman Tehsil Thuroo (on Reasi to Mahore Road)	REASI	RURAL	55	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
40	Village Baryalta on Battal to Sunal Road	UDHAMPUR	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
41	Village Tungali on Gool to Sangaldan Road	RAMBAN	RURAL	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
42	Village Sohal on Akhnoor-pallanwala road	JAMMU	RURAL	70	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
43	Village Harni (on Mendhar to Surankote Road)	POONCH	RURAL	40	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
44	Village Bawali Nangali (on Chandak to Kankote Road)	POONCH	RURAL	30	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
45	Village Saranoo (on Kalakote-Rajouri Road)	RAJOURI	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
46	Village Gataka(Main Road)	KATHUA	RURAL	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
47	Village Kewal (on Rajouri Mahore Road)	RAJOURI	RURAL	40	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
48	Village Seri on Doda to Baderwah Road	DODA	RURAL	35	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
49	Yaripora, Chitragam to yaripora road	KULGAM	RURAL	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
50	Duru to verinag road, Anantnag	ANANTNAG	RURAL	60	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
51	Village Paryout (on Puldoda to Baderwah Road)	DODA	RURAL	80	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
52	village chaudrigund on Shopian Kulgam road	SHOPIAN	RURAL	45	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
53	Village Pinglan on Pulwama to Srinagar road	PULWAMA	RURAL	77	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
54	Village Kehribal, Kehribal to Chattergul road, Anantnag	ANANTNAG	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
55	Ray on Kulgam to Shopian road	SHOPIAN	RURAL	45	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
56	Sugan, litter to Shopian road	SHOPIAN	RURAL	76	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
57	Vill. Pakka Kotha(Dhalta) on Dyalachak - Shallan Road	KATHUA	RURAL	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
58	Village Punchgund, Budgam to Beerwah road	BUDGAM	RURAL	120	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
59	village cheyan, Gundipora to Devsar road	KULGAM	RURAL	50	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
60	village soibugh on soibugh to wadwan road	BUDGAM	RURAL	90	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
61	larkipora to duru, Anantnag	ANANTNAG	RURAL	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
62	Village Iqbal Abad, Lazibal to Mattan on KP road	ANANTNAG	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
63	Dooru sepdan, Sringar to badgam road	BUDGAM	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
64	Village Karial Manhasan (Main Road)	JAMMU	RURAL	70	OBC PH	DC	30	25	750	12	30	Draw of Lots	5	3
65	Village Bugam on Chadoora to Pulwama road	BUDGAM	RURAL	102	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
66	Village hayan on Kupwara to Tanghdar road	KUPWARA	RURAL	80	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
67	Patrara to Ghambir (on Bhimber Gali to Rajouri Road)	RAJOURI	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
68	Within 1 Km of Nandpur Govt. hospital towards Arnia on LHS	SAMBA	RURAL	100	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
69	Manglora, Between Kunzar to Magam on LHS from Kunzar	BARAMULLA	RURAL	105	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
70	Muthi to Domana on Jammu Akhnoor	JAMMU	RURAL	100	SC	CFS	30	25	750	0	0	Draw of Lots	0	2
71	Lassipora on Pulwama to Lassipora road on LHS from Lassipora	PULWAMA	RURAL	120	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
72	Purkhoo Garhi on Akhnoor Road	JAMMU	RURAL	110	OBC	DC	30	25	750	12	30	Draw of Lots	5	3

			1		1				1					
73	Ladoora, Ladoora to Tragpora road, LHS from Ladoora	BARAMULLA	RURAL	145	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
74	Between SK Bridge to Kalai Bridge via Bhainch	POONCH	RURAL	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
75	Rayamorh between NH44 to Railway crossing	SAMBA	RURAL	70	OBC	DC	30	25	750	12	30	Draw of Lots	5	3
76	Qaimoh, In between Ashmuji bhan crossing and Nowpora Bogu	KULGAM	RURAL	100	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
77	Old bus stand budgam to new bus stand budgam on Srinagar Bu	BUDGAM	RURAL	90	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
78	Mir-bazar to Pahloo	KULGAM	RURAL	68	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
79	In between Dei Chak to Rathua RHS	JAMMU	RURAL	110	ST	CFS	30	25	750	0	0	Draw of Lots	0	2
80	Arigam, Khamri chowk to hall bridge on Pulwama shopian road	PULWAMA	RURAL	101	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
81	Bari Brahmana (WML), on NH44 LHS while moving from Jam	SAMBA	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
82	Baribrahmna Industrial Estate road from NH44 to Smailpur-Bao	SAMBA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
83	WML JAMMU, LHS on NH 44 from Transport Nagar to Sidra	JAMMU	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
84	New Tawi Bridge to Satwari Cantt via Raipur Satwari	JAMMU	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
85	Topsherkhaniyan (Jammu City)	JAMMU	REGULAR	170	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
86	Devalgam on Vailoo to Anantnag road	ANANTNAG	REGULAR	115	OBC	DC	35	35	1225	25	75	Draw of Lots	15	4
87	Jhajjar Kotli at NH-44 on RHS from Jammu to Srinagar	JAMMU	REGULAR	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
88	Chakjhallo, (JAMMU WML) on NH44 LHS while moving from	JAMMU	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
89	Village Palli on Ring Road, RHS while moving from Palli to Bis	SAMBA	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
90	Nashri to Chanderkote (on NH44)	RAMBAN	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
91	BETWEEN RAJBAGH TO BARNOTI ON NH-44, LHS FROM	KATHUA	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
92	Tachloo, Kulgam on NH 44, LHS from Srinagar to Qazigund	KULGAM	REGULAR	160	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
93		KATHUA	REGULAR	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
94	Hiranagar Town(On Road connecting Hiranagar and NH44)	JAMMU		150	OPEN CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
	On Road Connecting Akhnoor Rd(Best Price Showroom) and P		REGULAR											
95	Greater Kailash, JAMMU WML, On Road connecting Fawwara	JAMMU	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
96	In between Thandikhui and Swankha Morh, On NH44 LHS from	SAMBA	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
97	Gol Gujral(Main Road)	JAMMU	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
98	Chan Matloni on NH44 (LHS Kathua to Samba)	SAMBA	REGULAR	300	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
99	Sulla Park to IRP HQ Chowk	REASI	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
100	Kargil to Minjeee (on Kargil-Zanskar Road)	KARGIL	REGULAR	120	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
101	Within 3 Kms of Palli Morh on NH-44, LHS from Jammu	KATHUA	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
102	Jakheni to Chanani on NH-44 (LHS from Jammu to Srinagar)	UDHAMPUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
103	Kunjwani Chowk to Tpt Nagar on NH-44 RHS, Jammu WML	JAMMU	REGULAR	150	OPEN CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
104	Zoonimar, Nowhatta to Soura road	SRINAGAR	REGULAR	220	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
105	Leh WML)	LEH	REGULAR	140	ST CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
106	Kallar Himiti on Dhar Road	UDHAMPUR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
107	Pandich, Ahmadnagar, Soura to Ganderbal road via 90 feet, LH	GANDERBAL	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
108	Doda City (WML), Dist. : Doda, State : J&K	DODA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
109	Dharana (on Mendhar Town to Saghlad More Road)	POONCH	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
110	Thannamandi WML(on Rajouri-DKG Road)	RAJOURI	REGULAR	55	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
111	Tikri on NH-44 (LHS from Jammu to Srinagar)	UDHAMPUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
112	Baderwah (WML)	DODA	REGULAR	75	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
113	Udhampur Bye pass on NH-44 (LHS from Jammu to Srinagar)	UDHAMPUR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
114	Nawakadal	SRINAGAR	REGULAR	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
115	Banihal Byepass (On LHS from Srinagar to Jammu)	RAMBAN	REGULAR	200	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
116	Jawahar Nagar (on Rajouri-Kalakote Road)	RAJOURI	REGULAR	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
117	sumbal sonerwani road, within municipal limits	BANDIPORA	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
118	Rampur on Bonyar to Rampur road, LHS from Bonyar	BARAMULLA	REGULAR	170	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
119	Within 3 KMs from Kishtwar Bus Stand towards Doda	KISHTWAR	REGULAR	100	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
	1				1									

120	Chatroo to Mughal Maidan (on Kishtwar to Sinthan top road)	KISHTWAR	REGULAR	100	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
121	Kangan Town to Gund on national highway	GANDERBAL	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
122	within 1 KM from SKIMS soura gate towards sakidafar, LHS	SRINAGAR	REGULAR	210	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
123	Udhampur Bye pass on NH-44 (RHS from Jammu to Srinagar)	UDHAMPUR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
124	Singhpora, Narbal To Singhpora road on NH 44,LHS from Narb	BARAMULLA	REGULAR	165	OPEN	DC	35	35	1225	25	75	Draw of Lots	15	5
125	Batapora, Hazratbal, Srinagar	SRINAGAR	REGULAR	175	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

NOTE:

- a. If the minimum dimension mentioned here is different from the minimum dimensions mentioned by State Authorities, then the dimensions applicable on the date of advertisement for the state, as given by the authorities will be treated as minimum required dimension.
- b. "The minimum dimension mentioned in the advertisement here is for the purpose of eligibility criteria. However for better layout, positioning & construction of facilities, better maneuverability of vehicles, better customer convenience which is likely to give better sales, bigger plot sizes of about 35m x 35 m would be preferable for other than NH Sites."
- # Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.
- * The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Type of RO	Type of Site	Category	Rs.	KO	Type of Site	Category	Applicati on fee in Rs.
Regular ROs	CFS	SC/ST	3000	Rural ROs ROs	CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in

case of any dispute. For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Territory	Districts covered	Address	Contact No.
		T M Retail- B2 , South Block , 4th Floor , Bahu	
		Plaza Complex , Jammu	0191-
JAMMU	ALL DISTRICTS OF JAMMU AND KASHMIR	- 180004	2470147